
��
��
��
��

Andante1

2

G� 555 5M� 5M 5M 5M� 3555 5M 5M 5M 5M� 355 5� 5M 5M 5M 5M� 3555 5M 5M 5M 5M�
= =

f

5M� 5M� = 5M 5M =

G�
p

=: 5M 5M 5M 5M� = = 5M 5M 5M 5M
� = = 5M 5M� 5M 5M! �

= =
5M 5M 5M 5M

� = = 5M 5M
= 5M� 5M� =

�� =: p

5M 5M 5M 5M� = = 5M 5M 5M 5M� = = 5M� 5M 5M 5M
� = = 5M 5M 5M 5M� = =

f

f5M
55M

= 5M
55M
=

�� =:
p

p5M 5M 5M 5M� = = 5M 5M 5M 5M� = = 5M� 5M 5M 5M� = = 5M 5M 5M 5M� 3
f

5 5� 5 5� 35 5� 55� 3555

321

2

G� 5
M�
5M =

5M 5M = 3
p

5� 5 5M
3
5� 3
5 5 5

3 5!�
5 5 5 5� = = 5 :

cresc.

55 5� 5� 55 5� 5 5� 5M� 5M 5M 5
5�

G� 5M 5M =
5M 5M = 3

p

5 5� 5M 3 5� 35 5 53 5� 5� 5� 5 5� = = �B :5 : 5� : 5 :5 :
cresc.
5 5 5� 5M 5M 5M

��
5M
55M�
= 5M 55M! = 3

p

5 5 53 5�� 35 5 53 5� 5 5 5 5� = = 5� : 5 : 5� :
cresc.
5� 5 55M 5M 5M

��
5� 355 5� 5! � 35 5! 5

5� =
p

5�� 5� = 5� 5 5 5 5�
= = B� : 5 :

cresc.
5� :
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Example 17.15
Mozart, String Quartet in D minor, K. 421
second movement, 27–53

1

Analyzing Classical Form



371

2

G� 5 5� 5 5� 5 5!
cresc.

5� 5 5� 555 5� 5 5� 5M� 5M 5M 5
p

5� 5 5! 5� 5M 5M 5M
cresc.

55 5! 55 5� 5! 555 5� 55 5� 5555

G� 55� :: 55 :: B� :5� :
cresc.
5� :

p
5 : 5� :

cresc.
5� : 5 : 5� 55

�� �� B :5 : 5� : 55 ::
cresc. p
5� 5� 55M 5M 5M B� :

cresc.
B :

�� B : 5 :
cresc.
5� :

p
B :

cresc.
B :

411

2

G�
mf

5� 5� 5 5 55 5 5 5! 5 5 5� 5M� 5M 5M 5M 5M� 5M 5� 3
p
555 5M� 5M 5M 5M� 3555 5M 5M 5M 5M� 35 5� 5 5M 5M 5M 5M� 3555

G�
mf
5 5 5! 5 5� 5 5 5� 5 5 5 5 5M� 5M 5M 5M 5M� 5M 5

� = =
p
5M 5M 5M 5M� = = 5M 5M 5M 5M

� = =
5M� 5M 5M 5M

� = =
�� 5� = 5� 5� � = 5� � 5� = = 4 =

p

5M 5M 5M 5M� = = 5M 5M 5M 5M� = = 5M 5M� 5M 5M! � = =
�� 5�� = 5� 5�� = 5� � 5� � = = 4 =

p

5M 5M 5M 5M� = = 5M� 5M 5M 5M� = = 5M� 5M 5M 5M� = =

461

2

G� 5M 5M 5M 5M�
= =

f
55
5
M 5M

= 55
5
M 5M

= 55
5
M 5M

=
555
M
5M = 4 = = 3

p
5 5 5

G�
5M 5M 5M 5M

� = =
f
5M 5M

=
55
5
M 5M

= 55
5
M 5M

= 55
5
M 5M

= 0
�� 5M 5M 5M 5M� = =

f

5M 5M = 5M 5M = 5M 5M = 5M 5M = = 3
p
5 5 5 5� = =

�� 5M 5M 5M 5M� 3
f

5 5! 5 5� 3 5 5 5 5� 3 5 5 5 5� 3 5 5 5
p

5� 3
5 5 5 5� = = 4 =

Example 17.15, Mozart, String Quartet in D minor, K. 421, second movement, 27–53 (continued)
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50
521

2

G� 5M 5M 5M 5 :
cresc.

5! :
p

5� : 5 5 5 5� = 5� 5 5 5 5
8
5 5 5 5�

G� = 3
p
5 5 5 cresc.

5M 5M 5M 5 : 5 :
p
5� = 5� 5 : 5 5� 5�

�� = 3
p
5 5 5

cresc.

5M 5M 5M 5 : 5 :
p

5� = 5� 5 : 5 5� 5�
�� 4 = = 3

cresc.
5 5 5 5M 5M 5M 5 :

p

5� = 5� 5 : 5 : 5�

Example 17.15, Mozart, String Quartet in D minor, K. 421, second movement, 27–53 (continued)
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	�
	�

Adagio grazioso
34G

p cresc.

55555M 5M 5M 5M
sf

5 55M 5M 5M 5M 5M 5M 5
� =

p

5� 55 :: 55 5 5� 05
5 5� 5M

55M 55M
5M

55M 55M
5M
55M 55
M
5M 5M 5

M 55 5 5�
pp

5 5 5� 55 5� 5 5
M
5
M
5
M 5 5

5 5M 5M 5M 5 5 5 5M 5M 5M

36G 55�� :: 55 :: 55�� :: BB :: 55
cresc.

55 55 55 55�� 55 55��
:: 55 55 55��

:: 55��
�

5 5� 5� 5M 5M 5M 5 555M 5M 5M 5 555M 5M 5M 5� 5 5� 5M 5M 5M 5555M 5M 5M 55 5! 5M 5M 5M 5� 5 5� 5M 5M 5M 5555M 5M 5M 5! 555M 5M 5M

39G
f
55
:: 555��

::: 555� ::: 555���
:::

dim.
555�� ::: 5555� ::::

�
5� 5� 5� 5M 5M 5M 5! 5 5! 5M 5M 5M 5 5� 5 5M 5M 5M

5� 5� 5 5M 5M 5M 5� 5 5� 5M 5M 5M 5 5� 5 5M 5M 5M
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Example 17.16
Beethoven, Piano Sonata in G, Op. 31, No. 1
second movement, 33–66

1

Analyzing Classical Form



41G
fp
555�� 55M 55M 55M 55M 55M 55M 55M 55M 55M 55M 55M

5 5�

55M 55M 55M 55M 55M 55M
5M� 5M� 5M 5M� 5M� 5M 5M 5M� 5M� 5M 5M� 5M� 5M 5M 5M 5M 5M 5M

� 55��
5M� 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 555M�� 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M

43G 5M 555M��� 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 55M�� 55M 55M 55M 55M 55M 55M 55M 55M 55M 55M 55M 555M� 555M 555M 555M 555M 555M�
fp

555M��� � 3 = = 4 = 4 = 5 5� 5M� 5M� 5M 5M 5M� 5M� 5M 5M� 5M� 5M 5M 5M� 5M! 5M 5M 5M 5M 5M

45G
fp
55M� 55M 55M 55M 55M 55M 55M 55M 55M 55M 55M 55M

5� 5�

55M! 55M 55M 55M 55M 55M
5M 5M� 5M� 5M 5M 5M� 5M� 5M 5M� 5M� 5M 5M 5M! 5M 5M 5M 5M 5M

� 55
M��
5M� 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5M 5555

M� 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M

47G 5M! 555M� 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 555M 55M� 55M 55M 55M 55M 55M 55M 55M 55M 55M 55M 55M 555M 555M 555M 555M 555M 555M� 555M� � 3 = = 4 : 4 : 5! 5 5M 5M 5M 5M� 5M 5M� 5M� 5M 5M 5M 5M� 5M 5M! 5M 5M 5M 5M 5M

Example 17.16, Beethoven, Piano Sonata in G, Op. 31, No. 1, second movement, 33–66 (continued)
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49G 55M� 55M� 55M 55M 55M 55M
5� 5 5� 5M 5M 5M

55
M
55
M
55
M
55
M
55
M
55
M
55
M! 55
M
55
M
55
M
55
M
55
M
5 5 5! 5M 5M 5M

55
M�� 55
M
55
M
55
M
55
M
55
M

� 55
M 5M 5M 5M 5M 5M 555M�� 555M 555M 555M 555M 555M 5

M
� 5

M
5
M
5
M
5
M
5
M 55M
!! 5

M
5
M
5
M
5
M
5
M
555M! 555M 555M 555M 555M 555M 5M 5M 5M 5M 5M 5M

51G

55
M
55
M
55
M
55
M
55
M
55
M

5 5 5 5M 5M 5M

cresc.

5 5 5� 5M 5M 5M 5� 5 555�� 555M 555M 555M
5 5 555 555M 555M 555M

5! 5� 555!� 555M 555M 555M

� 55M
5
M
5
M
5
M
5
M
5
M
555M 555M 555M 555M 555M 555M 555M� 555M 555M 555M 555M 555M 5M

555M�� 555M 555M 555M 555M 5M
555M 555M 555M 555M 555M 5ME

555M!E 555M 555M 555M 555M

53G
f

555 = =
5 : 5 5 55� 5� 55!� 5 = =

5 : 5 5 55� 5� 5 :5!� �5 :5 5 5� 5 :5 5� 5 !5 :5 5! 5E 5 5� 5! =
dim.

55 5 = 55 5�

� 5M 5M 5M 5
M 5M 5M 5 5E 5 5� 5E� 5M 5M 5M 5

M 5M 5M 5 5E 5 5� 5E� 55 : 5! � 55 : 5! � 55 : 5� � 55 = 55 = 55 =

57G
pp

= E� 55 �
5 5!

=E555 5� = 55 555 = = 3
sf

55M 55
M 55M 55� :: 55 = = 3

sf

55M 55M 55M 55� :: 55 = = 3 G
sfsf

55M 5
5M 5
5M 5
5� ::5 5

� 55 =
55

=
55

=
5 = 45 5 5 = =5 5 5 = 5E� 55 5 5 = 45 5 5 = =5 5 5 = 5E� 55 5 5 = 45 5 5 =5 5 5 = =E5�5 5 5

Example 17.16, Beethoven, Piano Sonata in G, Op. 31, No. 1, second movement, 33–66 (continued)
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61G 55 :: =55� ::= 55 ::5E� 5 : =55� ::= 55 ::5E� 5 : =55
5 :::= 555 :::5� 5 =

dim.

555! ::: 555! :::
cresc.
555 ::: 555 ::: E E55

M
55
M
55
M
55
M
55
M
55
M

5M
5
M
5
M 5M 5M 5M� 55 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 55 5 5 5 :5 5

M5
M5M5
M
5 = 5 :5
M
5
M5
M5M5
M5M

65G
p

!B : 5 55
8)))))))))))))))))))))))))))))))))))))))))))))))) 5 : 5 5 : 5 5ME 5M 5ME 5M 5M� 5M! 5M 5ME5�

� 55M 55M 55
M 55M 55M 55M 55M 55M 55

M 55M 55M 55M 55M 55M 55
M 55M 55M 55M 55M 55M 55

M 55M 55M 55M 55M 55M 55
M 55M 55M 55M 55M 55M 55

M 55M 55M 55M

Example 17.16, Beethoven, Piano Sonata in G, Op. 31, No. 1, second movement, 33–66 (continued)
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Poco Adagio 1. ::
::
::
::

16 ::
::
::
::

2.1
2
GEEEE 5 5 5 5 5 5 5 5 5 5 5� = 4 5 5� = 4

cantabile

5 5! 5 5 : 5B3

�EEEE 5 5 5 5 5� = 4 5 5� 5 5 5! 5 5 5 4 4 5 4 4
3 3

GEEEE 5 5 5 5 5 5 5 5 5� = 4 5 5� = 4 � 5 5 5 5 5 5! 5 5 5 5! 5 5 5 5 5 5 5 5
3

GEEEE
5 5 5 5 5 5 5 5 5 55 55� �

5 5 5 5 5
55 55� �5 5 5! 5 5

BB :: BB ::3
3 3 3

191
2
GEEEE 5! 5 5 B 5 5E 5 k5� 5! 5 5! : 5B 5E 85 :: 55
�EEEE 5 5 5E B : B : 5 B B 4
�EEEE 5! 5 5 5 5 5 5! 5 5 5 5 5 5 5 5

5! 5 5 5 5 5 5 5 5! 5 5 5 5E 5 5 5 5 5 5 5 5 5 5 5E 5 5 5 5 5 5

�EEEE 5 5 5E B : BB :: 55 BB BB
::
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Example 17.17
Haydn, Piano Trio in G, H. 25
second movement, 15–46

1

Analyzing Classical Form



1. ::
::
::
::

24 2.1
2
GEEEE B 55 5! B 5 5E 5 5! 5 5! : 5 B! 5E 5 55 5!

3 3�EEEE B 4 B 4 B 5! 5E B 5! B
�EEEE 555

55555 5 55555555 5 5 5E 5 5! 5555 5! 55 5 55 5! 555 55 5E 55555 5!

�EEEE BB :: BB :: BB 55!! 55EE BB 55!! BB

281
2
GEEEE 5 5! 5 55 :: 5E� 5 5! 5 5 : 5 5 5 5 5 5! 5 5 B 5 5E

3

3

�EEEE 5 5 4 B : B : 5 5 5E B 4
�EEEE 5 5 5 5 5 5

5! 5 5 5 5 5 5 5 5! 5 5 5 5! 5 5 5 5 5 5 5 5 5! 5 5 5 5 5 5! 5 5 5 5 5 5 5 5
5! 5 5

�EEEE
55 B BB :: BB :: 5 5 5E B :

331
2
GEEEE 5 k5� 5! 5 5! : 5! B 85 5 5 B 5 4 4 55 55 55 55 55 55 55 55 55

3

3 3 3

�EEEE B : B : 5 5 5 5 4 4 5 5 5 5 5 5 5 5 53 3 3

�EEEE 5 5 5 5 5
5! 5 5 5 5! 5 5 5 5 5 5 5 5 5 5 5 5! 5 5 5 5 5 G5 5 5 5 5 5 5

5 55 BB ::
�EEEE

BB :: BB :: 55 B 55
4 4

5 5E 5 5 5 5E 5 5 5

Example 17.17, Haydn, Piano Trio in G, H. 25, second movement, 15–46 (continued)
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381
2
GEEEE 55 4 4 5 5 5 5 5 5 5E 5 5 55 55 55 55 55 55 55 55 55 55 55 55 55 55 55 59 5 5
�EEEE 5 4 4 B : 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5
GEEEE

5 5 5 5
5 5 5 5 5E 5 BE 5 5 5E5 : 5 5 5 5 5 5E5 : 5 5 5

�EEEE 5 4 4 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 59 5 5 5

42
451

2
GEEEE 5 B9 5 B9 55

M 5M 5M 5M 5M 5M 5M 5M 5 5 55 : 55 5 5 : 5B
�EEEE B : B : 5 4 4 5 4 5 5 5 5

GEEEE 5E 5 55 5 5 5 5 5 5E 5 5 k5�5 5 5 5 5 5 55E 5M 5M 5M 5M 5M 5M 5M 5M 5 5 55 : 55 5 5 : 5B
�EEEE B :5 5E 5E 5 5 5 5 5 5 B :5 5E 5E 5 5 5 5 5 5 55 4 4 5 5 5! k5�555 555 555 555555

Example 17.17, Haydn, Piano Trio in G, H. 25, second movement, 15–46 (continued)
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Allegro ma
non troppo1

2

GEE
p
5� 5 5 5

f

5 5 5
p

5 5 55 5 : 5 5 5 555 55 5M 5M 5ME 5E 55 5 55� 5� = 5� 5 5 5! 5 : 55

GEE
p
5� 5 5 5

f

5 5 5
p

5 5 55 5 : 5 5 5 555 55 5M 5M 5ME 5E 55 5 55� 5�
= 5� 5 5 5! 5 : 55

�EE =
p

BB :: 55 :: 55 :: 55 :: 5M 5M 5M 5 : 5� = = 0
�EE =

p

B : B : 5 : 5M 5M 5M 5 : 5� = =
5 5 5 5 5 5 5 5555 5

102 ::
::
::
::

1

2

GEE 5 5 5 5 : 55 5M� = 5M� 5M� = 5M� 5 : 5555� =
f p

5� 5 5� 5 5 5E 555555
f

5 5E 5M!

GEE 5 5 5 5 : 55 5M
� = 5M� 555555 5 : 5555� =

f p
5� 5 5E � 5 5 5 5 5 5 5� = f

5M�

�EE 0 555 5 5 5 555555 5555555� =
f p

5� 5 5� 5 5 5 5 5 5 5� =
f

5M�
�EE 555555555555 5M�

= 5M� 5M� = 5M� 5 5 5 5� = = 4 =
p

5 5 5M 5 5 5 5� = =
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Example 17.18
Mozart, String Quartet in D minor, K. 421
fourth movement, 97–112

1

Analyzing Classical Form



1071

2

GEE
p

5 5� 5 5 5E 5 5 5 5 5 5 5 5E� 5E 5 5 5 : 5 5 5E 5! 5 5 : 5 5

GEE
p

5 5E � 5 5 5 5 5 5 5 5E � 5E 5 5 5 : 5 5 5E 5! 5 5 : 5 5
�EE

p

5 5� 5 5 5 5 5 5 5 = 0 0
�EE 4 = 5 5 5 5 5 5 5 =

5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5

111 ::
::
::
::

1

2

GEE 5M!� = 5M� 5M� = 5M� 5 : 5 5 5 5� =

GEE 5M!
� = 5M� 5 5 5 5 5 5 5 : 5 5 5 5� =

�EE 5 5 5 5
5 5 5 5 5 5 5 5 5 5 5 5 5 5 5� =

�EE 5M�
= 5M� 5M� = 5M� 5 5 5 5� =

Example 17.18, Mozart, String Quartet in D minor, K. 421, fourth movement, 97–112 (continued)
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Var. V

G 4
p

B 5 5 5E 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5E 5 5 5 5 5 5 5
cresc.

5E 5 5

G
p

0 0 0 0 0 0
cresc.�

B B B : 5 5� : 8
5� 5E : 5E 5 B : 5 5 B 5 B : 5 5

103

G
5 5E 5

p

5 5E 5 5 5 5E 5! 5E
p

5M 4 ? ?
p
B 5 B 5 5 5 5 5 5 5 5 5

G 0
p

0
p
B B B : 5 5� : 85� 5E : 5E 5 B : 5

� 5 5 5 5! 5 5 5 5 B 55 5! 5 5 ?
p

B B 5 5 B B
5E 5 5 5 5 5 5 5 5 5! 5 5 5 5 5

109

G 5 4 4
5 5 B

cresc.
5 5 5

decresc.
5 5 5

p5 5 5 5E 5 5 5
5 5 5 5E 5 5 5E 5 5

G 5 B 5 B : 5 5
decresc.

5 5 5 5!
p

5 5 5 5 B 5M 4 4 5E 5E 5E 4
555E! 555

4
� 5 5 5 5 5E 5 5 5 5 5 5 5

cresc.

5E 5 5 5 5E 5 5 5E 5 5 5 5E 5M! 5 B 5M 5M B 5 5E 5E 5
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Example 17.19
Beethoven, Violin Sonata in A, Op. 30, No. 1
third movement, 97–151

1

Analyzing Classical Form



115

G 5E 5 5 5 5
cresc.
5E 5 5E 5 5 5! 5 5 5 5 5 5

decresc.

5 5 5 5� 5 5 5 5E
p

5 5 5 5 5
4

G 0 0
cresc.

4
5E 5E 4 4 5555E! 555 4

decresc.

0
p

? 4 5 5
� k5� 5E 5 k5�5 5E 5 5E B : 5 B 5M 5M 5 B 5! 5! 5 55M : 55M : 55M : 5 5� = 4 5

127
Adagio

Tempo I.

G 4 55 4 55E 55
sf

B�
p

5 5� ''
�
� 0 4 55M :

p

5� 5M :55M : 5 5M� : 4 ?

G 4 55M :55M :55M :
sf

55M :BB� 4
p

BBBB
�� ::::GGGGG

p

5 5 BBB� BBB BBB� BBBB� BBB� BBB
� 555 4 5555E 4 55 ��BB ::BBBB%:::

: ''''%
�GGGGG 4 55M : 5� 5M :55M : 5 5M� : 4 ? 4 55M : 5� 5M :55M :

121

G 4
p
5E 5E 5E 5 5 5 5 5 5 5E 5

cresc.

5 5 5 5 5M 5 5 5 5 5 5 5E 5M
5E 5 5 5

sf
BB
�

p
55

G B 5M 5M B k5�5 5E 5E 5 5E 5 k5�
cresc.

5 5E 5 5E B : 5 B 5M 5M 5
sf

BB
�!!

p

5 5
� 5 5 5E 5 5 5E 5 5 5E 5 5 5 5 5E 5 5E 5 5 55!! 55 55 55

BBB 555

Example 17.19, Beethoven, Violin Sonata in A, Op. 30, No. 1, third movement, 97–151 (continued)
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133

G 4
p

5� 5M :5 5M : 5 5M : 55M : 4 ? 4
p

5� 5M : 5 5M : 5 5M : 55M : 4 ? 4
cresc.

5� 5M :5 5M : 5 5M :
G BBB� BBBBE BBBB�

? 0 0 0
� 5 5M� : 4 ? 4

5� 5M :
BBBE
5 5M :5 5M :

BBB�
5 5M :

4 ?B
BBE 45

55� BB
cresc.

5� 5M : 5 5M :
55
5 5M :

55
5� 5M :

55
5 5M

:5
5
5 5M

: 5
5
5E 5
M
:

138

G
fp

k5� �B B 5M� 4 ?
sf

B B 5M
4 ?

sf

B B

G
fp

4
p

5 5M� : 5 5M : 5 5M : 5 5M� : 5 5M : 5 5M : 5 5M : 4 5 5M : 5 5M : 5 5M : 5 5M : 5 5M : 5 5M : 5 5M : 4 5 5M : 5 5M : 5 5M :
� 555 4 ? 0

f

555E 4 ? 0
f

555 4 ?

143

G
5M

4 ?
sf

B B 5M
4 ? ?

p

5 5M : 4 ?
p

5 5M : 4
G 55M : 55M : 55M : 55M : 4 55M : 5 5ME :

decresc.

55M : 55M : 55M : 55M : 55M : 55M : 55M : 5 5M : 55M : 55M : 55M : 5 5M : 55M 35$
� 0

f
555E 4 ? 0 5E 5M : 4 ? 5E 5M : 4 ?

Example 17.19, Beethoven, Violin Sonata in A, Op. 30, No. 1, third movement, 97–151 (continued)
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G 0 0 0 0

G
decresc.

5M 355M 355M 355M 35 5M 355M 355M 35
pp

5M 35 5M 3 5E 5M 355M 35
ppp

5M 35 5M 3 5E 5M 355M 355
�
M�

� 0 0 0 0

Example 17.19, Beethoven, Violin Sonata in A, Op. 30, No. 1, third movement, 97–151 (continued)
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